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PART-A EXAMINATION
QUESTION PAPER FOR THE POST OF SENIOR TECHNICIAN (ME)
(PAY LEVEL 04)
Maximum Marks: 50 ' Time: 1 Hour
Name of Candidate: Roll No:

© 2 1oy

INSTRUCTIONS TO CANDIDATES

This question paper has 50 questions. Each question carries one mark. There are four choices for answer
(A, B, C, D) to each question. Choose the correct answer (one only) for each question and write the
answer in the space provided against each question,

Candidate must write Name, Roll No. and sign on each page of this booklet.

The candidate should check that the booklet does not have any unprinted or torn or missing pages or
questions ete. If so, get it replaced with another question papet, before question paper starts.

One (1) mark will be awarded for each correct answer. There will be negative marking and (- ¥4) mark
will be awarded for each incorrect answer.

The unanswered questions will not attract negative marking

Return the Question Paper cum Answer Sheet to the invigilator after the examination is over.

Mobile, Electronic Watch and other Electronic Gadgets are prohibited in the examination.

There should not be any cutting or overwriting in the Answet.

Use of Unfair Means in Examination will lead to cancellation of candidature.

Irfieari ot fder

L SHUTA Y H 50 S € | T W9 o1 U 31 BT & | Hedieh U9 b I (A, B, C, D) & foiv ar ey 2 &

| Y et o Tl TET IR (TH BN ) T AR U W9 % et v fobr o = o s i

2. W SOSIT f FRt H ar fosw e &, R o f@ife & afielt vivestor o g
3. IH1EAR B 5 YIETHT & Ui I8 W AT, STshHid feaT BT 3R TT8R ST gl
4. SIIER BT I AT (e fo Jfeept # 1S SATHT a7 e gU AT A1aT I8 a1 3o 317X Tt §1 af Qa2

AT O I[6 B § el 38 UL U O § 95 o |

5. U GEl IR o Tl Ue (A) 3 far smem

6. TERTHE SeF BT 3R TS TTed IR o [T (-14) 36 B sem)

7. SN W BRI T B SATHIT T8 BT HeT TAT T F T TidaTes ol 997 U3 It ook 1o B
8. aflar & HiaTee, Teael e gel JN ST ST Teed lds e 2

9. IR H BIg BT T A T8l THT ATRT
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S.Neo

Questions

Ans

Match the following-
War
(a) Battle of Plassey
(b) First Anglo-Maratha War
(¢) Battle of Buxar
(d) Second Anglo-Mysore War
Year
(i) 1780-1784
(i1) 1764
(iii)1775-1782
(iv)1757
qs
(a) GATH I ST
(b) T Uel-FLIST g
(c) TR P TR

(d) T TR S
-
(i) 1780-1784
(ii) 1764
(iii)1775-1782
(iv) 1757

A. (i) G @) Gv) B Gv) i) (i) ()
C. ()G 3D Gv)  D. (v) (@) (i) (i)

The coneept of "Minimum Support Price" (MSP) in India is related to which sector?
A. Information Technology
B. Manufacturing
C. Agriculture
D. Textiles

T B A G ge (MSP) Bt SRR fobe &1 8 Heiferd 7
A. FET AEfebT '

B. fafA=ior

C. BT

D. g
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Which painting style is associated with Maharashtra?
A. Madhubani
B. Pichvai
C. Warli
D. Kalamkari

B AT R el HeRTE B Urife 87
A. HeHT

B. Torsare

C. ol

D. THARBER]

The chief minister of a state is answerable to
A. Rajya Sabha
B. Prime Minister
C. Governor
D. Legislative Assembly

TRt T T AT T wier sTaeeE g
A. TSTEMT

B. W HAT

C. TR

D. e

Who among the following declares a National Emergency in India?
A. President '
B. Prime Minister
C. Central Council of Ministers
D. Supreme Court of India

FfEfEd § 9 ®9 IR 5 TSR STITaBTe 1 ST ST &9
A. TEuld

B. TEHHHT

C. BT HAfHIREE

D. YA &7 " led =T

India’s largest inland Salt Lake, the Sambhar Lake is situated in:
A. Rajasthan
B. Uttar Pradesh
C. Kerala
D. Tamil Nadu
AR
B. ST U
C. &l

D. dAfAwTg
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Which natural disaster is caused by the sudden displacement of a large volume of water | B

in oceans or lakes?
A. Earthquake
B. Tsunami
C. Volcanic eruption

D. Tornado
TETETTE AT S § U BT ST T 3 ST ATy 3 HROT B T W ST el

27
A, T
B. §HI

C. SeTeTHET
D. TIesie g5t

Who was the first sportsperson to be awarded the Bharat Ratna? D
A. Kapil Dev
B. P.T. Usha
C. Dhyan Chand
D. Sachin Tendulkar

WA T & GHTR A B aTel Teet Teerer & 29
A. B 3
B. UT2L 39T
C. =T HES

D. & dgeret

Recently, who has become the first world leader to reach 2cr subscribers on his official | C

YouTube channel?
A. Rishi Sunak, UK
B. Giorgia Meloni, Italy
C. Narendra Modi, India
D. Joe Biden, USA

o1 & H, B 317 SNfEHTRE YouTube A W 2 IS HHIBISSL deb Ugd dTaAT Tael
T AT 9 T €2

A, Tl GTE, 6.

B. Siferar §ei, g1

C. Tg I, WA

D. 5t &84, g uH.T.
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10

National Youth Day is celebrated on January 12, which is the birth anniversary of
A. Swami Vivekananda
B. Swami Dayanand Saraswati
C. Bhagat Singh
D. Sachin Tendulkar\

TSR ey Ay 12 et @l 3y Syfel HAm S &
A. T fedepre

B. WM g qr&d!

C. d fiig

D. Gferdgempt

11

Where is the Konark Sun Temple situated?
A. Kolkata
B. Gujarat
C. Delhi
D. Odisha

Brones g Hfey el f@r 27
A. BIABET

| B. TR

C. el
D. 3feem

12

| Which country has won the most FIFA World Cup titles as of 20237

A. Germany
B. Argentina
C.. Brazil
D. Italy

2023 T 5T 331 Tg® FUTeT FIFA [ o faame sfie €9
A, STEAT

B. 3T

C. SRl

D. gt
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13

Which of the following schemes are related to the education sector-
(i) Sarva Shiksha Abhiyaan
(ii) Beti Bachao Beti Padhao
(iii) Padhe Bharat Badhe Bharat
(iv)Pradhan Mantri Jan Dhan Yojana

et & & e ot T e 8 3 efEd -
() T feter sthia™ ,
(ii) ST STl ST Tgratt
(iii) T% TR 91 HRA
(v T e AT

A. (1) (ii1) (iv)

B. (i) (ii) (iii)

C. (1) (iii)

D. All of the above

14

If we write 45 as the sum of four numbers in such a way that by adding 2 to the first

number, subtracting 2 from the second
number, multiplying the third number by 2 and dividing the fourth number by 2, we get

the same result. If it happens, then
what are the four numbers?

A T 45 BT IR AT &7 AT 39 WaR ol o ueell e § 2 Sie, g aear {2
", AT T Bl 2 F [oT g qeT Tieit T Bl 2 U I o 9 EH ger yRuT wred €6
Iz AET BT 2, 1 & =R et w89

A.1,8,15,21
B. 8,12,5,20
C. §,12,10,15
D. 2,12,5,26

15

The sum of cubes of two numbers is 793. If the sum of the numbers is 13, then find the
difference between the two numbers.

21 gt & = T A 793 ®1 e gEAel BT A 13, 97 a1 el & d ofdl Fd
BT

SO
Oy 00 L -
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16

1£2.5252525....... = p/q (in minimum form), then what is the value of q/p?

% 2.5252525........ = piq (A9 B9 H), AT o/p Bl I F71 82
A. 0.4

B. 0.42525

C. 0.0396

D. 0.396

17

Raghav spends his 80 % income. If his income 12% increases and 10% savings
decrease, then by what percent will his
expenditure increase?

TS AT 80% 3T T LT €1 A BT 37T | 12% o1 g 81 3R serd H 10% 1 BHI
&1, A1 36 2R H T fererd & g gy

A 175
B.22
C.16
D. 20.5

18

The Selling price of an article is 80% more than the loss occurred by selling the article.
If the cost price is 4500, find the

selling price.

A. 2893 rupees

B. 2895 rupees

C. 2899 rupees

D. 2890 rupees

19

A sum of Rs 800 amounts to Rs 920 in 3 years at simple interest. If the interest rate is
increased by Rs., what will be the
compound amount?

800 B BT ST TTLROT AT U 3 | | 920 $94 & A1 €| IS AT X H 1 59 bl gig
<1 STIY, T <IehgTa; TS T 2i?

A.Rs 992

B.Rs 752

C.Rs 652
D.Rs 562
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20

Shifa's average monthly savings for the first 5 months is Rs 2120, for the next 3

months is Rs 4260 and for the remaining
months of the year is Rs 3140. Now, the average monthly expenditure for the whole

year is Rs 11000. Find the total income
for the year.

UEe 5 AR 3 ST fSrr B e wiide a9 2120 BUd, 307 3 GEHF] & g 4260 TUF
fir g 3 S T & TAT 3140 B0R §1 o, S 3 Tl Sftee mifdes S 11000 30 B

T8 o TeTT et 319 AT BT
A. Rs. 170,520
B. Rs. 174,680
C. Rs. 180,950
D. Rs. 167,940

21

The ratio of students of three schools A, B and C is 5:4:7 respectively. If the number of

students in these schools increases
by 20%, 25% and 20% respectively, this ratio will be:

AT BT A, B #iT C & BT T AT HA: 5:4:7 81 T 9T Wpoll H WE bl deAT o
EBHIT: 20%, 25% 3R 20% B g Sial &, T I ST 2I:

A.5:5:7

B. 30:20:49

C.30:25:42
D. 40:20: 56

22

The combined age of husband and wife on the 20th wedding anniversary is double the

combined age at the time of
marriage. If the husband is 3 years older than his wife. So, what was her age at the time

of marriage?

20T ST} BT AIATTRE 0% Ufe 3R ot 1 Tgerd I ST o TH W1 e 39 & SIHT el
21 e o oot Uit & 3 T 21| AL, TTel < A SEehl 39 T &t

A, 29 years

B. 38.5 years

C. 21.5 years
D. 32 years
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23

The ratio of acid and water in a solution is 4: 5. If 20% of the solution is replaced with
water, what will be the ratio of acid
and water in the new solution?

T T § Srvet SR 9T T SUTd 4:5 €1 Ul el & 20 WA9Td T8 @l uHl § 9ee
T ST 2, aF e Hyet W 37reT 3R U7 9T STIOTd faaT BT

A.8:15

B.5:17

C.10:7
D. 16:29

24

A can do 20% of a work in 4 days. B can do 33.33% of the work in 10 days. They work

together for 9 days. C completes the
remaining work in 6 days. In how many days will B and C together complete 75% of

the same work?

T T BT BT 20 TS 4 A & 9 wepar 21 &t 10 A7 7 33.33% B B TBAT 21 T 9
AT e T T BT R €1 Y I Pl Bl 6 FA H o oo 81 & o7 E e U B
I T 75 UIAeTd feba T&AT H 0T T T2

A. 15 Days

B. 13 Days

C. 10 Days

D. 9 Days

25

An airplane starts flying 30 minutes later than its scheduled time and to reach a

distance of 1500 km on time, its speed is
increased by 250 km per hour. What was his normal speed?

Tep TS STEIST S il T 30 fire 1< 38/ WA AT § ST 9T W 1500 T, =
&1 il A% Uge & g gweb! 7id 7 250 T, . wfd €2 6y gfe €t 81 I qrer i

T <17

'A. 720 km/h
B. 740 km/h
C. 750 km/h
D. 730 km/h
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26

A man travels 450 km from his home partly by train and partly by car. If he travels 240

km by train and the remaining
journey by car, the time taken is 8 hours 40 minutes. If he travels 180 km by train and

the remaining by car then he takes
20 minutes more. What is the speed of the car in km/h?

e SEAT 39 BT 450 Tob, oY, Y =T 2711576 B9 T 37 T 1R 1316 ¥9 T BR F HAT ¢
gfe ag 27 & 240 T, 1. BT 9T FaT € 3 ST IHT BR § BT €, 7 8 T 40 THAE BT a7y
AT &1 ST TE 37 9 180 6. HY. 3K aTehT BR H AT AT & ar 39 20 e arfees vy
AT | e § ey v w87

A. 45 km/h
B. 50 km/h
C. 60 km/h
D. 48 km/h

27

If the sixth and eleventh terms of a harmonic series are 1/11 and 1/19 respectively.
What will be the first term of the
harmonic series?

g% Teb BHIFE ST 6 S R WS ug FHE: 1/11 3R 1/19 €| SHiHS e &1

TRl UG T 87
Al

B.1/2

C.1/3

D. 1/4

28

The module, which can use to process binary file

A, json B Ixml
C. pickle D none of these

Tieee, (ST ST ST WTeeT ol S o6t o Toig o <7 HeplT &

A. json B Ixml
C. pickle D 74 T Hig T8l

29

.......................... is a set of moral principles that governs the behaviour of a group

or individual and regulates the use of computers.
A, Copyright B. Computer ethics
C. Property rights D. Privacy law

fopet T 211 wafer o gaeR ol R ot § 31 el & IuelT i FRifd s 2|
A. BIYNTEE B. g Afdedr
C. Hufd sifen D. T T BT
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30 How do you fetch the next row of a query result set in Python’s database interaction?
ATY T 9 ST S H ey GO & 1 ared) viferd 8 e aed 82
A. fetch next(} B. feich next row()
C. fetchone()  D. fetch row()
31 The probability of Sita, Geeta and Mita passing the exam are 60%, 40% and 20%
respectively. What is the probability that
Sita and Geeta will pass the exam and Mita will not?
T, T of Wi & ulren 6ol 0 & T FHIT 60 U9, 40 wfawrd 3R 20
TSI 8| S ST BT AT HITEAT & o ST SR TiHer oreT Ir a4 3 Wi 7817
A. 38.4% '
B. 60%
C. 4.8%
D. 19.2%
32 By default if you return multiple value separated by comma, then it is returned as
fewmlee B9 & AfE oy AUfdm BN ST 6T T 68 Wi @R €, A1 34 86 9 1 9199
TedT ST 2
A. List B. Tuple
C. String D. None of the above.
33 Convert (6532)s to hexadecimal.
((6532)s T gramefEme # uRafda @i
A, (AO1)s B. (A02)s
C. (D5A)s D. (COl)s
34 What may be the possible values printed by following statements?
et et g qfsd SR w o 8t T €2
import random
for I'in range(3):
print(random.randint(10,18))
A 131210 B. 101811
C.botha& b D. 1098
35 Moré men than one in the lift.
A 1s stuck
B. are stuck

C. has got stuck
D. was stuck
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36

When he came, he was in a mood.
A. Play

B. Played

C. Playing

D. None of these

37

The train will expect exactly 6 pm.
A. by
B. at
C.to
D.on

38

They can finish the homework.
A. Erm!

B. Alas!

C. Indeed!

D. Really!

39

Dark horse:

A. An honest fellow

B. An unexpected winner
C. A mean person

D. A slow runner

40

Change voice of sentence:
The door was opened by the children for their father.

A. The children was opened the door for their father.
B. The children are opens the door for their father.
C. The children opened the door for their father.

D. The children open the door for their father

4]

Find antonym of : FLIMSY
A, Clumsy

B. Strong

C. Weak

D. Tiny

42

A substance that has no therapeutic effect, is used as a control in testing new drugs.

A. sedentary
B. placebo
C. lax

D. torpid
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43

The traffic also becomes an unfortunate catalyst in the dust particles in the
area and around.

A. Collecting

B. Accomplished

C. Combine

- D. Dispersing

44

The United Airlines has suspended its services (A) / between Newark and Mumbai (B)
/ amid heightened tensions (C) / in

the Gulf of Oman. (D) / No error (E)

A. The United Airlines has suspended itA€™s services

B. between Newark and Mumbai

C. amid heightened tensions

D. in the Guif of Oman,

45

He sent a word to me that he would be coming late.
A. sent word

B. had sent a word

C. sent words

D. No improvement

46

In a certain code language, STUDENT is written as TVVFFPU. How will STEERING
be written in the same code language?

T HigT B M ¥, STUDENT &I TVVFFPU Toi@r <irar #1 3d7 &1 vmer &

STEERING &I To7 TR f&ET smumm
A. TVFGSKOI

~ B. TUFFSJOH

C. TUFGSKOH
D. TVGFSKPH

47

MONTH: NMQPM: : PAPER :
A. QYTBV

B. QXSBX

C. QYTAV

D. QYSAW
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48

A man walks 9 km towards West; takes a right turn and walks 12 km. He then walks 7

km towards the starting point and

reached the destination. How far is he from the starting position?

A.8km

B. 12 kmm

C. 13 km

D. 10 km

wep ATTeHT UfET BT 37 9 ) STl €; 17 gear & AR 12 T e 81 O 98 greerrd
fig 2B 3 7 fopely el & 3R Tieed TR UE AT 81 T8 QAT @ W fopel g 8

A 8T B.12fRH Co13 T D. 10 e

49

A watch which gains uniformly was observed to be three minutes slow at 8 am. on a

particular day. At 8 p.m. on the same
day it was three minutes fast. At what time did the watch show the correct time?

e T2 S T B § G s 2, T Y 3T 99T 8 am. 91 A e HHT 3l TE
I & 977 8 p.m. T FE A o st &l ﬁo—awaﬁi’mﬁwﬁ@ww

A.lpm
B.3pm.
C.2 pm.
D. 6 pm

30

5760, 2880, 960, 240, 48, ?
A. 6

B.8

C. 12

D. 16
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